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Recap....

* Refer Ripple tank experiment

» Demonstration of Ripple tank experiment to
show wave properties.

> http://www.youtube.com/watch?v=-
8a61G8Hvi0
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COnstructivé’Intérférerce
» Refer the figure on right with two

waves arriving at a point at the same /\ /\/
time in opposite directions. 4 Q

* If they arrive in Phase —that is, \/\/

if their crests arrive at exactly the £ TR IR ST
same time — they will interfere copstructively.

* A resultant wave will be produced which has crests much higher
than either of the two individual waves and troughs which are
much deeper.

* If the 2 incoming waves have the same frequency and equal
amplitude A, the resultant wave produced by constructive
interference has an amplitude of 2A.

* The frequency of the resultant is the same as that of incoming
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Deéstructive Thtérferénce

» Refer the figure on right with two

Wave 1

waves arriving at a point at the same

* If they arrive out of Phase — that is

time. I =

if the crests of one wave arrive at Destructive interference

same time as the troughs from the other — they will interfere
destructively.

* A resultant wave will have a smaller amplitude. (based on case
to case)

* In the case shown in figure where the incoming waves have
equal amplitude, the resultant wave has zero amplitude.
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Interference and Superposition of Waves

 When two waves meet they ﬁ ‘/—\

will interfere and superpose. f_\" _TL

After they have passed they ~ _"/

return to their original forms. __/ \

This is true if they are coherent ‘f\ /\"

or not. ‘f_\ 7’\
Al It

* At the point they meet, thestwo waves will combine to give a
resultant wave whose amlitude (or intensity) may be greater
or less than the originai two waves.

* The resultant displacement can be found by adding the two
displacements together. This phenomenon leads to
the Principle of Superposition.
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The principle of Superposition

* The Principle of Superposition states that
when two or more waves meet at a point, the
resultant displacement at that point is equal
to the sum of the displacements of the
individual waves at that point.

Note : Displacement is a vector, so remember to add the individual
displacements taking account of their directions.
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Application of the Principle of Superposition

How Noise Gancellation Works:
II+

Incoming Ambient Sound = 4
(Plasw=, train: ar bus engine) Orignal ambient sound and newly added
wavefomm cancel each other out

/N

okt
o

LE P,'{‘Li
. *‘P‘ to headphone speaker

A
|_|._ OFE 2

r d

found is picked u; by microphore
and sent to nodse cancellation cirowitry

and s

Active Noise Gancellation
The muffli ambient noise using
insulati tenal in the headphones is

called passive noise cancellation.

e noise cancellation utilizes the

inciple of superposition to pick up the

| ~ambient noise, inverts the wave and
generates this sound wave within the
headphone. This inverted wave cancels the
ambient noise, preserving only the sound
waves that the listener wants to hear.

B

Note : The transverse shown in above figure is for the demo of
cancellation of noise only. Remember, sound waves are to be
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Statlonary Wave

* A stationary wave is set up by the superposition
of two progressive waves of the same type,

amplitude and frequency travelling in opposite
directions.

e A stationary (or standing) wave is one in which
some points are permanently at rest (nodes),
others between these nodes are vibrating with
varying amplitude, and those points with the
maximum amplitude (antinodes) are midway
between the nodes.
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This is not in Syliabus, this is inciuded hiere for youi understanding

on stationa ry waves

Melde's apparatus to illustrate stationary waves in stretched string

By adjusting the weight of the scale pan, stationary waves 6@%& up as shown below.
G

wbroting rod light strth > ¢
D> D> <

vibrator

pulley
wheel

http://www.youtube.com/watch?v=4BoeATJk7dg
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Uses ¥nttapplititiondf Meldets exp@rimertt
(for your information only)

Melde's experiment teaches us creation of standing
waves.

One can create a great product of neutralising the
sounds by creating sounds with same wave length and
frequency as the source.

For example : If we know exactly the frequency of any
machine ( say an aeroplane flying over your building
every day during take off and landing) and if we can
measure the wave length of sounds that machine
creates..create a product that can create similar waves
in opposite direction, so that they undergo mechanical
interference and the machine sound is neutralised.
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Characteristics of Stationary Waves

V.

Vi

VIL.

There 15 no sign of any progressive wave in either direction’

Individual particles are oscillating with the same frequeney, except at the nodes.
The amplitudes of oscillation of the particles vary ftom a maximum at the antinodes (A)

to zero at the nodes (N).

All particles in the same seagment or loop.iregion
between 2 adjacent nodes) are vibrating Annphase.
Adjacent segments are anti-phase.

Adjacent nodes or adjacent antinodgs"are half a

e

wavelength apart, i.e. NN = AA :—’f} 0

¥
—

-

A node and the next antinoda are % apart. -

Energy is trapped (stdred) in stationary waves,
since there is no energy is transferring away.

wWwWw, yout ube. coni negal ecture
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- ——

Fundamental mode
- I_ - or 1¥ harmonic
(a) s e i e

nd .
2" harmonic

nj -
»” ~ ‘] 3™ harmonic
- T

(c)

Let a string be stretched between two clamps separated by a fixed distance L.

When the string is plucked, struck or bowed, it can vibrate in several modes simultaneously.
The simplest possible pattern of the stationary wave consists of one loop (fundamental
mode), with the nodes at the 2 ends of the string - diagram (a).

The next simplest pattern has 2 loops, and the next has 3 loops.. etc.

In short, just add nodes between the 2 ends, for subsequent modes of vibration.
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Formation of Stationary Sound Waves in air in Pipes

1. Stationary sound waves in air can be formed in both closed and open pipes.

2. In a closed pipe, when a sound wave is originated from gheropen end, the sound wave
propagated into the pipe is reflected by the cylindrical wéll,and from the closed end.
A stationary wave is then formed.

At resonance,
a) node N is always formed at the closed snd of the pipe
- the air layer at this end is permaneriiy at rest
b) antinode A is formed at the opé&iend of the pipe
- the air layer at this end is fres0 vibrate
3. In an open pipe, when a sound wave Is originated from the open end, the sound wave
propagated into the pipesathe other open end where it is reflected by the walls and on

encountering air at the&ther open end.
A stationary wave is set up.

wWwWw, yout ube. coni negal ecture page 13 of 57
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At resonance, since the ends of the pipe are open, both ends are antinodes.

I
I
% i B

=

)OO

Open Pipe ! i Closed Pipe i
' (at one end)

The resonance of sound In pipe may be varied by changing either the frequency of the
sound wave, or length of the pipe.
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Formation of Stationary Sound Waves in air

loudspeaker - A A A A A A
“,Hxlf.-' “-u\_’]!.r* ‘x"x""f -u.x P -‘-ﬁ'x:("‘. *--\
S N AY /|
n matal
O reflector
- <
signal generator &Q icronhone
known freguency

i trace obtained at antinoda

CRO

oscilloscope

Stationary sound waves in air can be demonstrated using the set-up as shown above.

Note : In A level Physics syllabus, this part

appears in previous chapter ‘waves’.
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loudspeaker - A A A A A A

metal
reflector

signal generator

microphane
E

known frequency

— trace obtained at antinode

< CRO

oscilloscope

Stationary sound waves in air can be demonstrated using the set-up as shown above.

The Incident sound wave 15 generated by the loudspeaker attached to a signal
generator.

The ncident wave s reflected by the metal reflector (which must be appropnately

positioned at a node). The reflected wave and the incident wave superpose to form a
stationary wave.

The detection of nodes and antinodes 1s done using a microphone attached to a CRO.

By moving the microphone slowly forward and backward, the wvertical trace (or
amplitude) on the CRO screen is seen to vary from minimum to maximum, indicating
the positions of nodes and antinodes.

ot ube. cort e R
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Al

B]

Cl

To measure the wavelength of the sound wave:

Measure the distance moved by the microphone, d, between 2 successive maxima or
minima (e.g. d = 33 cm).

Since this corresponds to % the wavelength A = 2d = 2(33 cm) = 66 cm

O

To measure the frequency of the sound wave: ()
By measuring the period, T, of the sound waue,@a frequency can be determined.

Set the time base of the CRO to a suit &value (e.g. 0.5 ms cm). Place the

microphone where the CRO shows a saamdal trace. The period, T, is determined
I:H,f measuring the distance between ?gl s or 2 troughs, (e.g. 4 cm).

sthepenod, T = 4em=x0.5

_ 2ms = 107 s
QS@*

1
Hence the frequency, f=— =500 Hz
] Y T{ é; %1073

Hence, speed of Sé@an be calculated from v = fA = (500)(66 x 107) =330 m s

wWwWw, yout ube. coni negal ecture page 17 of 57
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A string Is stretched under constant tension
between fixed points X and Y. The solid line
shows a stationary wave at an instant of greatest
displacement. The broken line shows the other
extreme displacement.

Which one of the following statements is correct?

A The distance between P and Q) 1s one wavelength.
B A short time later, the string at R will be displaced.
C The stning at P* and the stning at Q° will next move in opposite directions to one
another.
D At the moment shown, the energy of the standing wave is all in the form of kinetic
energy.
E The standing wave shown has the lowest possible frequency for this string stretched
between X and Y under this tension.
Solution:
A Incorrect. For a stationary wave, one wavelength contains two complete “loops”™ (i.e.
distance XR). Hence, PQ is only ¥z wavelength.
B Incorrect. R 1s a node, hence it will permanently be at rest.
C Correct! In a stationary wave, particles in adjacent loops will always be moving
opposite to each other (i.e. P" will move down, and Q" will move up).
D Incorrect. The energy is alternating between KE and PE, depending on the location of
each particle in the wave.
E

Incorrect. The lowest DDJSI%E frequenc the, fundamenjal frequenc |n which there
VA <Y, DUk BiBeds ONT TTEQAI €CEUT € " (Anspdgs 150157
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Sample problem 2

A boy blows gently across the top of a piece of glass tubing the lgwer end of which is closed
by his finger so that the tube gives its fundamental note of fregquency, £ While blowing, he
removes his finger from the lower end. The note he thep~hears will have a frequency of
approximately

A fl4 B fir2 c f DO, ™~2f E 45

Solution

At resonance, for a closed tube (with one end\closed), the stationary wave (at fundamental
frequency) formed is shown in (1). When ke lower end is removed (2 open ends), the
stationary wave (in fundamental mode) faroved looks like (2).

A N
INn(1):L=%A=>A=4L | IN(2) L=2A=2>A=2L
Given that the frequency = LS\ If the frequency = L
Using v =i f=r="Ys Usingv=fi>h=s=2—of
A 4L A 2L
(Ans: D) \ W

(1) (2)
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Sample problem 3

A suspension bridge is to be built across a valley where it is known that the wind can gust at
2 s intervals. It is estimated that the speed of transverse waves along the span of the bridge
would be 400 m 5™

The danger of resonant motions in the bridge at its fundamental frequency would be greatest
If the span had a length of m.

Solution:

In fundamental mode, the stationary wave has a single
“loop” at resonance, with nodes at the 2 ends.

Hence, if the length of the bridge, L, i1s equal to ¥z A, the
bridge will resonate with the fundamental frequency.

Given that the wind gusts at 5 s intervals =2 faiver ===

Usingv=74 > 41=2=29_5000m
f 02

Hence, the bridge has the danger of resonating (fundamental mode) if L =% A =1000 m

wWwWw, yout ube. coni negal ecture page 20 of 57
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Sample problem 4ﬁ|

An organ pipe of effective length 0.6 m is closed at one end.

Given that the speed of sound In air s 300 m s the two lowest resonant frequencies are

Solution: M
For fundamental mode:
WA=06m =2 A=24m 0.6 m
v 300
fundamental = I :ﬂ =125 Hz
N 3

Fundamenial Mode
(lowest equency)

For 2™ lowest frequency: (N
YaA=06m =2 A=08m

v 300 0.6 m
fand lowest :I 08 375 Hz

W
2™ lowest frequency

Hence the two lowest resonant frequepcies are 125 Hz & 375 Hz.
VWV, Yy out uBe. com megai ect ure
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Sample problem 5

A taut wire is clamped at two points 1.0 m apart. It is plucked near one end.

What are the 3 longest wavelengths present on the vibrating wire?

Solution

Step 1: Draw the 3 modes comresponding to the 3 longest wavelengths (between X & Y).
Step 2: Since the wire is clamped at the 2 points (X & Y), they must be nodes.

L S —

10m 1.0m

Step 3: Relate the length of wire to the corresponding wavelength, A, in each case.

“A=10m A=1.0m (15)4A=10m
A= im

- A=2.0m = 0.6

wWwWw, yout ube. coni negal ecture page 22 of 57
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The formation of a stationary
wave using a graphical method
Nodes andzAntinodes

wWwWw, yout ube. coni negal ecture page 23 of 57
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Formation of a statlunaﬁ' (standing) wave

A stationary wave is formed when two progressive waves of the same type, wavelength
and amplitude travel in opposite directions superpose in the same medium.

XA PF o MY

‘f} X - . X 3 ——— el T

Q(/T.
&\A_

T ;:%T

re =

In the diagrams above, of the two progressive waves in a string, one is travelling to the left
(a), and the other to the right (b).
The resultant wave (c) Is a stationary wave, obtained by applying the superposition principle.

Note :
a) there are positions along the string which do not move — called nodes (marked by
dots)

b) haliway between successive nodes are antinodes, where the amplitude of the
resultant wave is maximum (double the amplitude of the individual waves).

c) wave patterns shown in diagram (c) are those of a stationary or standing wave
because the wave pattems do not move left or right (i.e. the positions of the nodes and

antnodesy R PESUt ube. contl megal ect ur e Page 24 of b7
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4

3 —wave velocity v

Stationary Wave

Progressive Wave

Amplitude Varies according to position, from )5 the same for all particles in the
zero at the nodes (permanently at path of the wave (amplitude = a).
rest) to a maximum of 2a at the
antinodes.

Frequency All particles vibrate in SHMawith the All particles vibrate in SHM with
same frequency as the wave (except | the frequency of the wave.
for those at the nodes~winich are at
rest). ~

Wavelength | 2 x (distance between a pair of Distance between adjacent
adjacent nodef v antinodes) = 2NN = | particles which have the same
2AA. \ phase.

Phase Phase of &t particles between 2 All particles within one wavelength
adjacent nodes is the same. have different phases.

Waveform Does not advance. (The curved string | Advances with the velocity of the
becomes straight twice in each wave.
perod.)

Energy MNo transfer away of energy, but there | Energy is transferred in the

Is energy associated with the wave.

direction of travel of the wave.

WWW, YOUT UDE. CO

m T

regal ect ure
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Sample problem 6

A standing wave is set up on a stretched string XY as shown in the diagram.
At which point(s) will be oscillation be exactly in phase with that at point P?

X

Solution:

In a stationary wave, all points between 2 successive nodes are in phase. In this case, 1 & 2
are in phase with each other, but are in anti-phase with P. Hence, only 3 is in phase with P.

wWwWw, yout ube. coni negal ecture page 26 of 57



lefractlon

» Diffraction is the

the width of the

waves.

spreading of waves
through an aperture or
round an obstacle.

> It is observable when

aperture is of the @%

order of magnit
the wavelength' of the

wWwWw, yout ube. coni negal ecture
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Diffra Cth N (continued)

* The extent of the diffractiol | i
effect is dependent on the X

relative sizes of the aperture | | | | |
to the wavelength of the wav |

|| ‘ %

 The smaller the size of the aperture, the greater

the spreading of the waves (if the width of the

aperture is about the same size as the wavelength, A, the
diffraction effect is very considerable).

* Size of the aperture refers to the width of the slit or gap.
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Experiments which demonstrate
diffraction including the gitfraction
of water waves in a rigple tank with

both a wide gap ana a narrow gap

wWwWw, yout ube. coni negal ecture page 29 of 57



Generally, theBiggérth®WwaveBHgt i F2IatfEH 't6°the width of
the aperture, the greater is the spreading or diffraction of the
waves.

* The diagrams below show the plan view of diffraction of plane water
waves through gaps of different width, in a ripple tank. Note that the
wavelengths do not change after passing through the gap.

~ N 5 )
y - |
A J g
-
vy
Diffraction effects
get less obyious

as the gap gets larger

* |tis the relative sizes of the aperture to the wavelength that is important.
* http://www.acoustics.salford.ac.uk/feschools/waves/diffract.htm

WWW. yout ube. conl negal ect ur e Page 30 of 5
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Application of Diffraction

The forms of jetties =
are used for =
directing currents
and they are
constructed
sometimes of high

or low solid (@0)(0
projections.

&

WWW. yout ube. cem
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The diagrams below are INCORRECT! Why?

v
J))

(c) (d)

In (c), diffraction effect is nght, but wavelength increases, which is incorrect.

In (d), diffraction effect is too much for the given large slit size and the wavelength
should not be increasing.

Note : Huygen’s explanation of diffraction is not
mentioned in syllabus

WWW. yout ube. confmegal ecture Page 32 of 57
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Intertrerence

» Interference is the superposing of two or more waves to give
a resultant wave whose displacement is given by the Principle
of Superposition.

______________

e _‘BF ; Qﬂrﬂ NN
A . = Ty N N
: i J ¢+ ' I l* ! u N E [
3 ] ] ; T AT ATRT A5 " : [ I
! ! ) A B y 0 Rl P X AR Vol
] H h ; ] I . : ' 1
T l'.‘ I._JI 'h._h ‘,I
Peal Trough
_ Constractive
Destructive interference
interference

http://www.youtube.com/watch?v=dNx700rCPnA
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Interference continued)

+—1 [ + V=~ +—1
cllar 1. negygar coti ur cyyiiral 1. CUTI

At regions of maxima,
constructive interference
occurs (i.e. the waves arrive
at these points in phase),
resulting in maxima
amplitude, hence high
intensity.

At regions of minima,
destructive interference
occurs (i.e. the waves aitive
at these points in antixphase),
resulting in minima.cr zero
amplitude, henceiow or zero
intensity.

i’ A N
-~ s e ™
B - e f - . .
il Fl —- - "
- . .
K . E { . . s
! - X ", " Y
. _— - . "
: A ¥ = . . " it
i . . ) - . b s
H ] h I N | \ . n .
! f ' P LY I e “ y g |
| J ; . & ¥ " 1 u] . ' ' \
1 | h ! A0 - Y W P H . 3 " 1 H
i B i ' ! Yy " N % 8 \ ' !
1 1 : '| 1 II - I 1 1
" .1' . .-I
R C_ =t

Peak Trough

_ Constractive
Destrctive irterference
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Experiments that demonstrate
Two-source Interference

Reference :
http://www.youtube.com/watch?v=9UkkKM1lkKg
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Thoma® Yoang's DoubleSHt Esgerirrrent

Singte St | 1111 | —Sunlight
u
" PIrrrg e
e » -

Diffracted

Screen with Coherent
Two Slits Spherical
avefront
E 2l 8 ] = -
- “W'® L 4
WS,
Y r : "VA' /
RS, "

Line LAY ’4, aY Line of

of Waves o g b1 Waves
In :tep - " e Out o; Step

Detector Screen Dark Bright Interference
V\AMN. v O Ut Uh@.ge O m rre (ﬂ‘ne%t U r @ngesPaqe 37 of 57




MDD.

e
o

Farsl scresen

Second screen

In diagram (a) above, the narrow double slits act as wave sources. Slit Sy and S>
behave as coherent sources (waves coming from them are always at a constant
phase difference) that produce an interference pattern on screen C.

This interference pattern (fringe pattern) is shown in diagram (b). Separation
between successive bright fringes (centre to centre) is the fringe spacing.

+9273237509 4447,

(a}

emal I .

IMAx

’ r|'|i|:||

Imax

i
| Bl F S
i

(L1 F .Y

THAX

SUIEE

medgal ect ur e@mal 1 . CoIr

(b)

wWwWw, yout ube. coni negal ecture page 38 of 57



mob.:

+92.323-509.4443,  _enail.—negal-ecture@uai-l—con

The bright fringes are formed due to constructive interference (i.e. the waves arrive at
these points in phase), while the dark fringes are due to destructive interference (i.e.
the waves arrive at these points in anti-phase - hence no resultant amplitude, which

then appears dark).

B

I A

Bright frimnge

dark fringe

Bright fringe

Dark fringe

Central Bright Fringe
Dark fringe

Bright fringe

Dark fringe

Bright fringe

Schematic diagram of Young's double-slit experiment is shown above.

WWW. yout ube. cont negal ect ure
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Two-source interference with water

An interference pattern involving water waves is produced by two vibrating sources at the
water surface. The lines represent crests, and the spaces between the lines represent
troughs. The regions where the lines intersect (spaces also intersect) have constructive
interference. The regions where lines intersecting spaces have destructive interference.

25 Constructive interference

R
. SR
e 2 f‘%f:’-l% éy%%‘

e

~~——__ Destructive interference

> ,3'4%
2
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Conditions required for two-source interference fringes
to be observed

For interference fringes to be observable:

« The sources must be coherent; that is, they must waintain a constant phase
difference.

« [he sources must have the same frequency (fordight waves, this means that they
must be monochromatic).

e The principle of superposition must appiyw(the sources must produce the same
type of waves).

« The sources must have (approximately) the same amplitude .

+« For light waves.

%+ the wavelengiiis used should be in the visible range (400 nm to 700 nm).
¥ the source (slit) separation (d) is around the order of 10 m.
%+ the screen-slits distance D is around 1T -2 m.
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Just for your understanding only : (not in syllabus)

What is the meaning of 'a constant phase difference’ between two
coherent waves' ?

» The primary source of light is transition of electrons. This happens
for every source be it the fluorescent tubes or the sun .

» As an electron jumps to its higher level it reaches an unstable
excited state. It stays there for about
10 ns and comes back to the ground state. Thus every 10ns a new
stream of light is produced.

» If we have two sources of light then the phase difference between
any two waves would be random. In fact it would change every
10ns or so. This is why we don't find interference in practical life.

» To have a constant phase difference between two waves (i.e. to be
coherent.) the waves should be from a common source, so that
there is no ab-nitio phase difference to get a constant phase
difference and two waves (from the same source) can be made to
have some path difference.

wWwWw, yout ube. coni negal ecture page 42 of 57



nob.—+92.323..509.4443, _emai-l-.—negal-ecture@nail-.-com
Conditions for constructive interference

Constructive interference

O 28
S, Mﬁ%“g&%\ g@e interference
wave i o e ‘gﬂ.\-‘— -
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The 2 thick lines i cting at P represent the paths of water waves from the 2
sources to produceaconstructive interference at P.

Length SoP = 144, length S4P = 134 = their path difference = 144 -134= A4

For other points with constructive interference, the path difference must be nA,
where nis an integer. The assumption here is that the srurce are in phase.
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Conditions for destructive interference

. Constructive interference

N
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The 2 thick lines intersecting at Q represent the paths of water waves from the 2
sources to produce a destructive interference at Q.

Length S;Q = 144, length S1Q = 1234 > their path difference = 144 - 123 4= 134

For other points with destructive interference, the path difference must be (n+3 )4,
where n is an integer. The assumption here is that the source are in phase.
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Using the equation A= C;)—x

for double-slit
interference using light

Note : Agper syllabus, you need to have an
understandi®g’ of young’s double slit experiment, but
you dow't have to prove/derive the equation.
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Young's Double Slit

In the double slit expenment, bright & dark fnnges alternate at equal separation.

The double slit interference i1s given by the equation

A 15 the wavelength of the light

Is the separation of the slits

X Is the separation of the fringes on the screen (fringe spacing. separation
between centres of bright fringes, or centres of dark fringes)

D is the separation between the screen and the double-slit

Vi)
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Check your understanding!

Do headlights from a car form interference
patterns? Why?

The interference would be ‘visible’ if the tw@ sources are oscillating
in phase or have a constant phase difference. This is why a single
light source (as in young’s double slit experiment) is split to produce
two which are then coherent.

In addition the separation of the headlamps is so large that any
interference fringes would heCtoo close together to be easily
measurable, and the pathgitierence between waves would render
them no longer coherert:

Note that, becausgithe wavelength of light is so small (of the order
of 107’/m) to produce observable fringes ‘D’ needs to be large and

‘a’ as small as possible. (This is one of the application of equation of young’s double
slit experiment)
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Sample problem 7

Which of the following statements must be true about two wave-trains of monochromatic
light arriving at a point on a screen if the wave-trains are coherent?

They are in phase.

They have a constant phase difference.

They have both travelled paths of equal length.
They have approximately equal amplitudes.
They interfere constructively.

mooOomxe

Solution (Ans: B)

Only [B] is true as this is the meaning of coherence.
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Sample problem 8

When a two-slit arrangement was set up to produce interference fringes on a screen using a
monochromatic source of green light, the fringes were found to be too close together for
convenient observation.

In which of the following ways would it be possible to increase the s€paration of the fringes?

Decrease the distance between the screen and the slits,

Increase the distance between the source and the slits

Have a larger distance between the two slits.

Increase the width of each slit.

Replace the light source with a monochromadic source of red light

mooOomre

Solution: (Ans: E)

. L ) . N A X
Since it I1s a double slit setup, using the equaiion — = D
a a

A decrease [0 =2 x will decrease

B Increase distance between source & slits does not affect the fringe separation

C Increase a =2 x will decrease

D Increasing the width of thesit will not affect x, but will allow more light through, hence a
brighter pattern

E  replace green light with red light. Aedq = Agreen = If A Increases, x will increases.
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Sample probblem 9 g @

* Calculate the observed fringe width for a
young’s double slit experiment using light of
wavelength 600nm and slits 0.50nm apart.
The distance from the slits to the screen is

0.80m.

Solution :
ax

Using A = —
X =600x107°x0.80/0.50x 107°

=960 m
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to determine the wavelength of light

A diffraction grating is a plate on which there is a very large
number of identical, parallel, very closely spaced slits.

If a monochromatic light is incident orthis plate, a pattern of
narrow bright fringes is produced.

O ’g on Grating
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How a Diffraction Grating Works

When you look at a diffracted light
you see:

— the light straight ahead as if
the grating were transparent.

— a "central bright spot".

— the interference of all other
light waves from many
different grooves produces a
scattered pattern called a
spectrum.
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lefractlon Gratmg

e A diffraction
grating can be
used to make a
spectrometer and
a spectrometer s a
device that
measures the
wavelength of
light.

&Q

THE VIQBDE SPECTRUM - Wavelength in Nanometers

1 ) I [ 1
600 650 700 750
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1
550
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500
Cyan
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400 -
{ultra) Violet Blue
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The equation : d’sin'&'="n\

Figure 8.54 shows a parallel beam of light incident normally on a diffraction
grating in which the spacing between adjacent slits is . Consider first rays 1 and
2 which are incident on adjacent slits. The path difference between these rays
when they emerge at an angle #is d sin 6. To obtain constructive interference in
this direction from these two rays, the condition is that the path difference should
" be an integral number of wavelengths The path difference between rays 2 and 3,

" 3 and 4, and so on, will also be d'sin 6. The condition for constructive interference
is the same. Thus, the condition for a maximum of intensity at angle 8 is

dsin 8 = nA

where A is the wavelength of the munﬁchrﬂmatm light used, and n is a whole
number,

path difference = dsin b

—_— e i Em Em o Em mm o e o mm o v

d = slit spacing

_________n_-.-.

LN B TAN T T

light diffracted
at @ to normal

Figure B.54
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The equation : d sin B = nA

(continued from previous slide)

When n = 0, sin & =0 and 6 is also zero; this gwes the fTaight-on direction, or
- what is calle:d the zero-order maximum. When n <°1;-we have the first-order

diffraction maximum, and so on (Figure 8.55).

-3:6 ofder_
pgentigtoomsl f e
1 -lst order
G zerg order
1st order
2nd order
3rd order

Figure 8.55 Maxima in the diffraction pattern of a diffraction grating
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Sample problem 10

‘Monochromatic light is incident normally on a grating with 7.00 x 10°
lines per metre. A second-order maximum is observed at an angle ot
diffraction of 40.0°. Calculate the wavelength of the incident light.

The slits on a diffraction grating are creaied by drawing parallel lines
on the surface of the plate. The relationship between the slit spacing d
and the number N of lines per metre is d = 1/N. For this grating,
d=1/7.00 x 10° = 1.43 x 10" m, Using nA = d sin 6,

A = (dIn) sin 8 = (1.43 x 107%2) sin 40.0° = 460 nm,
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